Allowable current in relation to the flexible elements overheating for an ambient temperature of 35°C
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8 g8k 2 9x0,8 14,4 9x0,8 X 2 47 74 95 114 130 144 157
Z %083 3 9x0,8 21,6 9x0,8 x 3 59 92 119 141 162 180 196
E 9080 6 9x0,8 432 9x0,8 X 6 88 137 176 210 240 266 291
E 90809 9 9x0,8 64,8 9x0,8 x 9 112 174 225 268 306 340 371
2 13052 2 13x0,5 13 13x0,5 X 2 48 75 97 116 132 147 160
E 130503 3 13x0,5 19,5 13x0,5 X 3 60 93 120 143 163 181 198
o 13x0.5x4 4 13x0,5 26 13x0,5 X 4 69 108 140 166 190 211 231
13x0.5%6 6 13x0,5 39 13x0,5 X 6 87 135 174 207 237 263 288
13%0.5x10 10 13x0.5 65 13x0,5 x 10 115 180 232 276 316 351 383
15.5%0.8x2 2 15,5%0,8 24,8 15,5%0,8 X 2 70 110 141 168 192 214 234
S lection: 15.5%0.8x3 3 15,5x0,8 37,2 15,5x0,8 X 3 87 136 175 209 239 265 290
eliection: 15.5%0.8¢4 4 15.5x0.8 496 15.5%0.8 x 4 102 159 205 244 279 310 339
lggxggxg 6 15,5x0,8 74,4 15,5%0,8 X 6 128 199 257 306 350 389 424
5x0.8x 8 15,5%0,8 99,2 15,5x0,8 X 8 151 235 303 361 412 458 501
The bar chart enables the 15.50.8x10 10 15,5%0.8 124 15,5%0,8 x 10 172 268 345 411 470 523 571
SEIBLTD @ I ARmOnE 20x1x2 2 20x1 40 20x1 x 2 96 150 193 230 263 292 319
. q X1X; X X1 X
according to the different 20x1x3 3 20x1 60 20x1 x 3 119 186 240 286 326 363 396
parameters: 20x1x4 4 20x1 80 20x1 x 4 139 217 280 334 381 424 463
ggx}xg 5 20x1 100 20x1 x 5 158 246 317 377 431 479 523
. . xix 6 20x1 120 20x1 x 6 174 272 351 418 477 531 580
- Opefat'ﬂgocab'”et tempera- 20x1x8 _— 8 20x1 160 20x1 x 8 205 321 413 492 562 625 683
ture of 35°C. ggxm? 10 20x1 200 20x1 x 10 234 365 470 560 640 711 777
IXTX
- Current (amps) requested. 11 20x1 220 20x1 x 11 247 386 497 592 676 752 821
o 24x1x2 2 24x1 48 24x1 x 2 111 173 223 265 303 337 368
- Acceptable rise in tempera- 24x1x3 3 24x1 72 24x1 x 3 137 214 276 329 375 417 456
ture. 24x1x4 4 24x1 96 24x1 x 4 160 250 322 383 438 487 532
24515 5 24x1 120 24x1 x 5 181 282 363 433 494 550 600
e, 24x1x6 6 24x1 144 24x1 X 6 200 312 402 479 547 608 664
SElectlon S 24x1x8 8 24x1 192 24x1 x 8 234 366 471 562 641 713 779
example 24x1x10 10 24x1 240 24x1 x 10 266 415 534 637 727 809 883
32x1x2 2 32x1 64 32x1 x 2 139 218 280 334 382 424 463
Our example concerns a cur- 32x1x3 3 32x1 96 32x1 x 3 172 269 346 413 471 524 572
: 32x1x4 4 32x1 128 32x1 x 4 200 313 403 480 548 610 666
rent flow capacity of 630 A, 3915 5 32x1 160 32x1 x 5 226 350 453 540 617 686 749
and a maximum temperature 32x1%6 6 32x1 192 32x1 x 6 249 388 500 596 680 756 826
of 85°C: 32x1x8 8 32x1 256 32x1 x 8 290 452 583 695 793 882 963
32x1x10 10 32x1 320 32x1 x 10 327 510 657 783 894 995 1086
- Operating cabinet tempera- < Amps
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- The acceptable rise in 8 —T T T
temperatﬂre is g 4o 2 40x1 80 40x1 x 2 167 261 337 401 458 510 556
; . R = 40xix3 3 40x1 120 40x1 x 3 206 322 415 494 565 628 686
(85°C - 35°C = 50°C). 2
_ E 4o 4 40x1 160 40x1 x 4 240 374 481 574 655 729 796
(See the orange line) T 4016 5 40x1 200 40x1 x 5 269 420 541 644 736 818 894
- = 40x6 6 40x1 240 40x1 x 6 296 461 594 708 809 900 982
The possibilities are: _ 2 d0x1x8 8 40x1 320 40x1 x 8 343 535 690 822 939 1044 1140
(Intersection across the orange line 40x1x10 10 40x1 400 40x1 x 10 385 601 774 922 1053 1171 1279
and the green scale)
B M 1 x 10 50x1x3 3 50 x 1 150 50 x 1 x 3 248 387 498 594 679 755 824
= X1Xx 50x1x4 4 50 x 1 200 50x1x4 287 448 577 688 786 874 954
-ES 24 x1x38 50X1x5 5 50 x 1 250 50 x1x5 322 502 646 770 880 978 1068
-ES32x1x6 50x1x6 6 50 x 1 300 50x1x6 352 550 709 844 965 1073 1171
-ES 40 x1x 4 50x1x8 8 50 x 1 400 50x1x8 407 635 818 975 1114 1238 1352
-ES50x1x3 50x1x10 10 50 x 1 500 50 x 1 x 10 455 709 914 1089 1244 1383 1510
Depends on the clamp of the 63x1x3 3 63 x 1 189 63 x1x3 301 469 604 720 823 915 999
circuit breaker, you have to P, 4 63 x 1 252 63 x1x4 347 542 698 832 950 1056 1153
choose the correct width of 63x1x5 5 63 x 1 315 63x1x5 388 605 779 929 1061 1179 1288
AR A e ol ment. 63x1x6 6 63 x 1 378 63x1x6 424 661 852 1015 1159 1289 1408
63x1x8 8 63 x 1 504 63 x 1 x 8 487 759 978 1166 1332 1481 1617
63x1x10 10 63 x 1 630 63 x 1x 10 541 844 1088 1296 1481 1646 1798
80x1x3 3 80 x 1 240 80x1x3 368 574 739 881 1006 1119 1221
80x1x4 4 80 x 1 320 80 x 1 x4 423 660 851 1014 1158 1287 1406
80x1x5 5 80 x 1 400 80x1x5 471 735 947 1128 1289 1433 1565
80x1x6 6 80 x 1 480 80x1x6 513 801 1032 1229 1404 1562 1705
80x1x8 8 80 x 1 640 80 x 1 x8 586 915 1179 1405 1604 1784 1948
—_ 80x1x10 10 80 x 1 800 80 x1x10 649 1013 1305 1556 1777 1976 2157
INTERNATIONAL WIRE Group s 100x1x5 B 100 x 1 500 100x1x5 565 882 1136 1354 1546 1720 1878
= 100x1x6 6 100 x 1 600 100 x 1 x 6 614 958 1235 1471 1681 1869 2041
I —— 100x1x8 8 100 x 1 800 100x1x8 699 1090 1404 1674 1912 2126 2321
——g 100x1x10 10 100 x 1 1000 100 x 1 x 10 771 1203 1550 1848 2110 2347 2562
_— 100x1x12 12 100 x 1 1200 100 x 1 x 12 836 1304 1680 2003 2287 2543 2777
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